ATS QUESTION BANK

MECHANIC (MOTOR VEHICLE) THEORY LEVEL-1

Q 1. The clutch plate is held against ................... by a powerful spring. /

39 We e Ufagemed RBiomgwr ¥ IR Mt IgH 7
A). Crankshaft / FHUUE

B). Flywheel / W%ﬁa

C). Journal / NE

D). Propeller shaft / TMUAR AMGe

Q 2. Which of these is not a friction clutch? / S8 J &I I TH gy T

I8l 82

A). Cone clutch / HIT T

B). Disc clutch / s T@g

C). Fluid clutch / O[S a<1d

D). Centrifugal clutch / PXITYURSD FAd

Q 3. Which type of clutch is used with synchromesh gearbox? / Rimaw
aaie & Ay 59 ISR & 7ad B IUAT fobar ordr g2

A). Fluid clutch / UcfgS deid

B). Dog clutch /3\[’7[ addd

C). Single plate clutch / U d ©c Fdd

D). Semi-centrifugal clutch / G{Qf-%rqmwicb el d

Q 4. Which of these is an automatic clutch? / "-:?:fff J BT Iq1 Th wWarfard
AT 82

A). Centrifugal clutch / HGIIUIRS dad
B). Cone clutch / HIT TG

C). Disc clutch /%W CNE]

D). Fluid clutch / YRS oid



Q 5. The power output of an engine at the flywheel is called

................... / FAISId U UP S99 BT f[aodl IdATe

A). Nominal horsepower / LG 3‘[%{‘\”%

B). Brake horsepower / S Sy fad

C). Indicated horsepower / fAfése o1 Hﬂﬁfa 3y fad
D). Mechanical horsepower / g% ryxfad

Q 6. The cylinder volume above the piston when it is at T.D.C. is called
............. / e & Ju RdST &1 31gd, o9 gg .3 R A |, BN
HET oI 7|

A). Displaced volume / foTurfug smaqs
B). Swept volume / @E AHTd

C). Clearance volume / W T
D). Left over volume / AU 3T MITA

Q 7. The internal diameter of engine cylinder is technically termed as
.......... / 397 TSI & iaRes I & dFNH FUA ______ Fgl ondl g |
A). Core / PIT

B). Bore / 1KY

C). Hole / E»Pfa

D). Groove / Yd

Q 8. A two-stroke engine has three ports, which are ................... / :C:-E:f$

SHTA AT NERAE, o &

A). Inlet port, intermediate port, exhaust port / 37-[@[7:’ tﬁ‘c‘, gETIﬁ%QE
e, TN Ui

B). Inlet port, auxiliary port, exhaust port / 3?@[3 tﬁ_c;, Srsifaatt tﬁ_c;,
TTErE Ord

C). Inlet port, transfer port, exhaust port / s"lad tﬁ_c;, gi{-ILbQ tﬁé, QWTE
qc

D). Inlet port, scavenging port, exhaust port / E':T@TE’ tﬁ?f, Th T tﬁ?f,
Twie W




Q 9. What type of diesel engine layout is shown in figure given below? /

19 ou T T & 59 gk & ST S99 BT d3< WA AT 72

A). In-line type / S9-dIgd UPHIR

B). Vee - type / at - U]

C). Radial type / Xf&TWA YR

D). Horizontally opposed type / afas FIH@-@IH UhIR

Q 10. Which of these actions taken on the engine will result in more

power? / 399 UX f5 A TA 397 I I H1af &1 gRony 4w e g »

A). Increase displacement / fgTyrgqa delHl

B). Increase compression ratio / IUtsT av dell
C). Cool incoming air / gah arg P ST HIAT
D). All of these / & gt

Q 11. Maruti 800 and Nano €Cars are .......ovvvvvvvvunnnnnn. /IITF]%T 800 3MIT A
FRE -

A). Mini cars / s a8

B). Compact cars / HITE B

C). Midsize cars / THSTISH &I
D). Executive cars / wﬁ’raq%a BN

Q 12. How will you classify cars and jeeps on the basis of load? / 30 HIX

¥ 3R TR IR 3R Sfial & F apd HIA?

A). Heavy transport vehicles / It trﬁa"s'q dlrg-d
B). Heavy motor vehicles / I3} |Arex die-
C). Light transport vehicles / Gcab ui\{ds-l dig -
D). Light motor vehicles / Sc'eb arex die-




A). Bengulru /%Wﬁ?
B). Chennai /%[5[3;

C). Pune / gﬁf

D). Kolkata / I

Q 14. Which statement is true about 2-stroke engine? / Z-Ej$ EUE *F dR

d P T HYT IE 82

A). It has no valves / SIH ®Is dled 78! 8ld §

B). It has less number of moving parts as compared to 4-stroke engine / 4-
WP 399 B ga # 39 nfazha wm o I 1 §

C). Its efficiency is less as compared to that of 4-stroke engine / 4—EJ$
§99 $ g § STD! G& HT el ©

D). All of these / T gt

Q 15. What is the correct sequence of strokes in a 4-stroke engine? / 4-
TIF 91 § K &1 9al HH T g2

A). Induction, power, compression, exhaust / ff?UT, QT%T, {-iunls-l, BEAE
B). Induction, compression, power, exhaust / ﬁTUT, H'T-ﬂg:f, QT%, Ik
C). Induction, exhaust, power, compression / ﬁ?UT, ﬁﬁﬂ, QT%T, H'tﬁ_s_':l
D). Induction, exhaust, compression, power / ﬁrw, I('\'IObI{-I, {-iunls."l, gfaa

Q 16. The period during which both valves remain open is called

............... / Torg 3rafy & 19 @4l 91 A I8d § I

A). Simultaneous period /ﬂﬂﬁﬁf$ 3rafy
B). Collective period / ETH\%EE 3rgfy

C). Overlap period / 3AMIIAT Hafy

D). Series period /@ﬂ\_ﬂ 3rqafy

Q 17. The unit of electrical resistance is ......coevvvvnn.... / ﬁﬁfﬁa ufadry o

TIPS @ -



A). Mho

B). Ohm / 3fIH
C). Hertz / kS|
D). Farad /EF?TS'

Q 18. The size of a storage battery is described as ................. / TUh WIS
dcd BT SMBIR __ & =y # gftfq fear snar 3
A). Watt / dI<C

B). Ampere / Qf&{q?
C). Ampere-hour / Hﬁrm-fra
D). Volt / dleC

Q 19. What is used as electrolyte in a lead-acid battery? / FﬂﬂT-Qﬁ[g é‘&"r
H 3AaIAET & U H fHaH gaT fear S g2

A). Diluted sulphuric acid / UddI HFEP{\&$ Qﬁ[g

B). Diluted nitric acid / Uadl Agfesd tRig

C). Diluted hydrochloric acid / UddI ag@a%ﬁﬁa? [{ﬁ[_s'
D). Diluted citric acid / Uddl ﬁ[@$ I{ﬁ[g

Q 20. Each cell of a lead-acid battery develops ................... / Th Thg1-
RIS 98 BT UAPS AT SUT BIAT© oo

A). 1.1 volt / 1.1 dleC
B). 2.1 volt / 2.1 @leC
C). 3.1 volt / 3.1 dleC
D). 4.1 volt / 4.1 diec

Q 21. Why is a gearbox necessary in a vehicle? / Udh digH H frgvsiey o
ATIH Bl 82

A). To get different torques / A -HAT] clh 14 & %Q
B). To get different speeds / CIRERIGR IS EGE:] ﬁTQ
C). To get different torques and different speeds both / -3 cId

3R fafys 7fg S urd 373 & A
D). none of these / 5"H:I' I c|’>\I$r "IE;nI'




Q 22. What is the type of gear shown in figure given below? / CIE] EQ Ry
srfa & femrar mar AR 5 usR &1 82

A). Spur gear / ¥X firaz

B). Bevel gear / sad Mgz

C). Helical gear / %ﬁ[$ﬂ gz

D). Rack and pinion gear /5\’$ 3R fufigs MR

Q 23. What type of gears are used in sliding-mesh gearbox? / Wg%ﬂ—ﬁﬁf
fravaied & 59 e & Ay &1 Iudi fear Sran g»

A). Spur gears / WX frge

B). Bevel gears / d9d AR

C). Helical gears / %ﬁma firaz

D). Herringbone gears / %ﬁ‘ﬁﬁq HEE

Q 24. The gears in constant-mesh gearbox have teeth, which are inclined
to the shaft axis. This type of gears are called ........... / IEEGEE:L
fraveie & MraR & gid §1d ©, Ol MR e U PP oid o | 39 USR & AR
@ T o1l g |

A). Worm gears / gd frav

B). Spur gears / ¥ gz

C). Helical gears / %ﬁ'f%?f firax

D). Bevel gears / d9d AR

Q 25. What does 'VIN' stand for as related to automobiles? / &ﬁ’zﬁu‘rmga I
T&frd 'vIN' BT R ATAT 82

A). Vehicle Information Number / %°[$a _Eg"_‘fth—[ﬁ??f'_‘f EE

B). Vehicle Identification Number / 0_6°[$F[ Gﬂ‘s’?ﬁ%fﬁﬁ%‘m ECEY
C). Vehicle Internal Number / Osﬂlcbd C\idiﬂﬂ K

D). Vehicle Ignition Nature / %}T$a _&'@{QT:T TR




Q 26. Which of these is non-destructive method of testing? / ‘s’:rﬁ J B
& gderor o MR- Ay |2

A). Magnetic particle testing / g’aa'?rtr CAYRC R
B). Dye penetrant testing / _E';T'sc ﬁe@"—c’ g e

C). Radiographic testing /i’%’wﬁmﬁ?$ gjeur

D). All of these / T Tl

Q 27. Ildentify what component of an engine is shown in figure given
below? / UgdIA & §99 &1 @19 W1 g -9 3 ¢ frxy & fewran w4 g2

A). Template / THde

B). Oil seal / 3T WA

C). Head gasket / %3 ?[@73
D). Piston rings / fUwxT R

Q 28. What transmits power from the piston to the crankshaft? / fUwea 9
SHAR I Wfdd w1 GaIkd HIa1 g2

A). Camshaft / %I[Q]TFFE

B). Push rod / YRl RS

C). Connecting rod /$%ﬂ’%‘T EX]
D). Piston pin /ﬁ[E:T foq

Q 29. What are taps used for? / W &1 YA P ﬁ‘m foar Sran %?

A). To cut internal threads only / Fad dNF E‘L%ZIT P & ﬁ‘m

B). To cut external threads only / Had EIT_S'ﬁ Eﬂ%’?ﬁ HIcT & ﬁ‘fQ

C). To cut threads in blind holes only / FId ESIESS @a e ECL%ZI\T’ P &
fere

D). To cut internal and external threads both / GTE’QQI 3 MdR® E‘L%H\TJ
&l B FIeA & fag



Q 30. Brass is an alloy of ................. / fda EF?[Q$&[$[ Wﬁ%l

A). Copper and zinc / didl 3R ST

B). Copper and tin / didl 3T feT

C). Tin and lead /%:f 3N I

D). Aluminium and tin / E?{Lﬁ[ﬁqq 3R feq

Q 31. The property of a material to resist elastic deformation is

................. / AEAR f[APfd § 997 & AT v uard &1 70 5-

A). Stiffness / dSIUA

B). Hardness / HBIT

C). Malleability / SaTaad=igar
D). Strength / qrd

Q 32. The torque converter as used in automatic transmission is a type of
............. / Sifaifes ciafiea & ugad ofd &=ac & TP YD

A). Mechanical coupling / gia® RREE
B). Fluid coupling / «d JIHT

C). Pneumatic actuator / AT YadH
D). Rigid coupling / FIIR DR

Q 33. CVT is a term related to automatic transmission. What is its full

form? / CVT, WD GAX0 § IS g &1 TP YOI ©U FT g2

A). Consistent Variable Transmission /$ﬁf@_€ aﬁqa’a E\Tﬂﬁ[QT:[

B). Correct Variable Transmission / HIaC é’ﬁqaa E\Tﬂm’-ﬂ:{

C). Constantly Variable Transmission /WR‘ETC:?ﬂ éﬁqaa Ejﬂﬁf‘ﬂ:[

D). Continuously Variable Transmission /$€[313{H3ﬁ aﬁqa’a ETHﬁ[QT:f

Q 34. What is shown below is a part of vehicle transmission. What is it
called? / 1 S fa@mar a1 § 98 918 AU H UH TR g | I R HTd

87



YO CROSS PIECE

SHAFT

A). Flexible joint / LNIESER Gﬁ‘s’
B). Universal joint / qﬁraﬁa Gﬁg
C). Cross joint / Iy \_rﬁg

D). Spider joint / TIYSX \_rﬁg

Q 35. When a car is taking a turn, the outer wheels have to travel greater

distance than the inner wheels. Which part of the vehicle prevents
skidding of wheels in such cases? / 9§ Udh DX Th Iﬁg d ?Eﬁ E?f?'ﬁ % ar
153t ufed &1 siiaR® ufedt & ga=n A sy

A). Gearbox / UREGIE

B). Propeller shaft / MU AU
C). Differential / fswmIRga

D). Clutch / aId

Q 36. Two types of tyre constructions are commonly used, which are

................ / & UPIR & g [Aio sradik U IuAT fHu 9 &, o
gl

A). Straight ply and cross ply / el gvd 3N 1Y ud
B). Straight ply and radial ply / Ttel u3a 3z ¥fgad uvq
C). Cross ply and radial ply / 1Y gId 3N ITTT U
D). Long ply and short ply / At gRd 3R B ud

Q 37. The rubber on the circumference of the wheel tyre which comes in

contact with the road is called .............. /U%a & °1gX Bl gRfY U3 I§%
W ISH HIUS FANE HEAT g
A). Rim / R™

B). Tread / ?,f_s'
C). Lining / @rgfHT
D). Bead /Tsﬁ‘s'



Q 38. When a tyre deflates to the extent that the metal part of the wheel
rim touch the ground level, the tyre is said to be ............ / old Udh CTUR
@1 a1 39 g8 d® (A&wd ond ¢ fob afgar R &1 urg aren & St @R &)
FONAI ], A CTAR P ____ &gl ofid

A). Straight / T
B). Flat / HUIC

C). Smooth / IECEI
D). Burst / ThCl g3l

Q 39. Figure below shows a type of spring used in vehicle suspension

system. It is called- / Atd f&ar war 47 arga Ada= goral & Uiy gi4 ard
&7 & gxfar 8| 98 HEATdl o-

7 %) P n)
L 2
\E‘:?-“:; ':r,r]_b_——— i — —
u...h:}‘ —
= =

A). Coil spring / ﬁga &
B). Torsion bar / \3‘|Tq\Uf 3s
C). Leaf spring / e =’
D). Flexible spring / wifegad =B

Q 40. The lower portion of a piston is called ................. / Th IPESE ]
faafRl@ e HET oIl 3|
A). Peak / UiE2)

B). Crown / I3
C). Ring section / CUEENE]
D). Skirt section / THE AT

Q 41. What instrument is used to check and adjust valve clearance? / dlcd

A1 &t g 3R FAIANST HIT & 1T 5T IUSHU &1 IUAT fbar s

g7

A). Plug gauge / &I US|
B). Snap gauge / Y A



C). Radius gauge /%ﬁ‘%’qﬂ S
D). Feeler gauge / BIdY T

Q 42. Piston rings are made of ................oill. / leas s &
CERS GRS

A). Mild steel / Hg ¥Td
B). Brass / iG]
C). Cast iron / ddi FﬁBT
D). Copper / didl

Q 43. What is the minimum number of compression rings in an automotive

engine? / TH 3HAIAIRT 99 & o HIYT T Hl $H I H - AT 52

A). One / Ud
B). Two / al
C). Three / GiE]
D). Four / dIR

Q 44. What type of piston pins are normally used in modern automobile
engines? / ATYFAF AT S T TH FU Y {6 YH1R & U
4T &1 IuAT fHar ST 82

A). Fully floating / ELUT gd

B). Three-quarter floating / GiE] Eﬁ?ﬂ'ﬁf 9d

C). Semi-floating / \31’@-5[?1'

D). Fixed on both piston and connecting rod ends / fUwT v ®AfFT EXS
R @1 9 A7 gu

Q 45. What is mounted on the rear end of the crankshaft? / FHUIR B
WY & B U T A gl 82

A). Vibration damper / TWET SR (ATHTH)
B). Counter-weight / Ufdads HIR

C). Flywheel /wgaﬂa

D). Timing sprocket / Clsm*l DT




Q 46. Which of these is not a part of vehicle transmission system? / g:fff
J F 18T rgAYT gonet &1 uH = A8 g2

A). Clutch / addd

B). Gearbox / UREGIE
C). Wheels / U%ef

D). Axles / YT

Q 47. What of these is not included in automobile chassis? / 3'_'Tﬁ T 1

sidrMarsd Ay & wfyd a8 87

A). Brakes / EE

B). Differential /%qua

C). Steering system / Tk gomet
D). Shock absorbers / 3TYTd AIMYSH

Q 48. What is included in the electrical system of an automobile? / Ud

farmarsd &t faggd yonet o T wfda g2

A). Battery / acd

B). Alternator / anafds

C). Lighting / UDBIR AdTY]
D). All of these / T Tl

Q 49. The lid that covers top of the engine in a car and is situated in the
front is called .... / @dH Sl TH HIR T 99 & FUI Y HIT HIAT § 3N
qaA B AR YT a1 8, IF HT el 7-

A). Cover / ®@dX

B). Bonnet / Gl K
C). Lid / fa8

D). Spoiler / ?q‘rgaq

Q 50. What is the purpose of providing bumpers on a car? / Udh H[X U
§UR UG B B IT AT 82

A). To reduce impact in case of low speed collision / ®H HIGR: KCREE: ]
AHA § UHIG D H HIA & T



B). To improve engine performance / S99 yexq | gYR HIT B ﬁﬂl

C). To improve appearance of the car / ®IX o fgw@rae d gYR HIT B 1%{11
D). To improve aerodynamics of the car / P & EITE‘Tﬁﬁ H gY HITH
ferg

Q 51. What is the central portion of a car wheel called as? / ®IX & U%ﬁ
b T HIT B T ST ol 82

A). Rim / R®\
B). Hub / ©9d
C). Axle / YT
D). Scale / Hd

Q 52. The engine valves are closed by ................. / 94 & dred
g & fpT o1d B

A). Valve springs / dlcd i

B). Tappet / euc

C). Push rods / YXI RUE)

D). Timing device / ET‘&’ﬁ[‘T %Tﬂgﬂ

Q 53. Sometimes additives are added to lubricants to improve certain
properties. What additive is added to prevent rusting of components by
the lubricant? / ®W-®H W $& 0T B URA & faT Ag® o Ay {ara
STal g | EP GIRT GRS & S G o1

A). Oxidation inhibitor / MRAHI AIAYP
B). Corrosion inhibitor / ST JAA YD

C). Foam inhibitor / B AIAYD

D). Pour point depressor / Ky Wisc II°E3ES

Q 54. What is the type of engine lubrication system shown in figure given
below? / 19 faT 7T fax & g=iian a1 979 WE WU & SR T 62




A). Splash system / TR YUt

B). Pressure system / qdld o

C). Semi-pressure system / 3¢ arg yomet
D). Dry sump system / ﬁ@ EIEHER LI

Q 55. An opening called 'oil breather' is provided in engine lubrication
system to the outside air. What is its purpose? / a8 g1 H 99 AeA
et # 13T g’ ATHS TH NUT USd &1 oidl 81 STHT IT AT 82

A). To maintain pressure in the lubrication system / E8T Ul § g9Ig
gHq1¢ XGHT

B). To prevent contamination of the lubricant / {;|60b %5 HQNUI Ehaf {\Ifb'ﬂ
C). To prevent building up of excess pressure in the crankcase / %$$H H
faRT TT & F99 DI AHI

D). To reduce rate of oil consumption / dd &I WUd P! g3 Bl HH HIAT

Q 56. Which of these can cause excessive rate of lubricating oil

consumption? / $H ¥ & RAHTS A &t WU P! AIAfAP I BT B 94
bl 272

A). Leakage of oil /?f?f &1 Rarg

B). Worn out piston rings / g gd Ued & 3

C). Worn out valve stem and valve guide / o gU{ dicd ¥ 3T aIed Mge
D). All of these / T Tl

Q 57. Which statement is not true about air-cooled engines? / HITIT YA

arg fifad 399 & IR # 9g A8 82

A). No need for radiator /%%QET &t Ebgfé TAdYHh dl :[_Gp[%

B). No danger of freezing of water / = & THA BT ﬁé A cRT :fgjf

C). Weight of the engine reduced / 399 &I 99 Y gl

D). Higher compression ratio can be used / 3= ﬂ'tﬁg:f STUId &l I
far ST e 3

Q 58. In engine cooling system, what is regulated by a thermostat? / BN
fraa gonet #, e yHee g & A fear srar g

A). Pressure / qdId



B). Temperature / dIUHIA
C). Flow / dgId
D). All of these / T gt

Q 59. Class A fire involves ................. / JUN A 3T | THA %

A). Ordinary combustibles like wood /ﬂﬁ@j F WY YR E{E’?Qﬁa an?f
B). Flammable liquids / SAA-RNE dvd

C). Electrical equipment / faqu SUDRT]

D). Flammable metals / Saaad Yrg

Q 60. Which one of these is a source of ignition that may spark and start a
fire? / SAH ¥ FT USIAT BT WId & o WD g1 THdl § 3R T T B
THdl §?

A). Waste paper / T??[ DI

B). Flammable liguids such as paint / Saaqefd avd UET?—T S Uc
C). Overheated electrical equipment / fd®w mH Y ﬁﬁfﬁ?‘f JUDRT[
D). New electrical equipment / dU ﬁ‘c;ga SUDIU

Q 61. If you come across faulty electrical appliance, what should you do?
/ afg MU VYl faggd IUHIU BT Udl Iadl g, al MTUH! FT BRI
Bl

A). Try to repair it / 3T®I AIWT HIA BT AT HI

B). Continue to use it until it is replaced / 39 dd d® TN HIAT W13 IW
99 db 39 9gd A faar ey

C). Label it faulty and take it out of use / 3@ EﬁWELUf AT B 3?[? 3T I
B B

D). Label it broken and leave it where it is / §4 ccl gl ATT B 3R EL
oIg ¢ Wigl 45§

Q 62. Long hair can be dangerous when working in a workshop. Tie them
back so that .../ T% HBITRTAT H H1H HId IAT A 1A GAXATH 8 Hd g |

I WY ary o1 =rfew arfe-

A). They don't get dirty / CRIEA|| 63[
B). They don't get stained in paint etc. / 34Y Ue afe & gt A1 avf



C). They don't get into your eyes / g Mg i@l # A1 \_S|Tf{
D). They don't get caught in machinery / AMAH H 1 B \_ﬂTﬁr

Q 63. Who is responsible to maintain personal protective equipment? /

HFITT YR&T IUHIV & IWIWG & [T S TR g2

A). Your employer / g% HAIfa®H

B). Yourself / 34U Wy

C). Both your employer and yourself / 3MUP Arferd SN MY W K] Bl
D). Your co-worker / AHTOD] H€$ﬁf

Q 64. What type of personal protective equipment is required if you are
exposed to flying particles? / gfg ey G_S,'ef Id SN & Judb | 3MTd % ar
5T UHR & AfFTTT Y& TSI B AT G 52

A). Eye protection / 3T &l
B). Face protection / HY g &l
C). Head protction /ﬁ[? &l
D). Eye protection and face protection / ir@ gRE& 3R 9 g

Q 65. What is shown in figure given below is a part of ....................
system of an engine. / 714 QT T fux & S fe@rar 7an § 98 U 9 PT
guTel & TP T B

J, Cap

Parallel tube (inside)

Low
pressure

Qutlet

Alumini atal Air flow
uminium m el

A). Lubrication / @[_’6’:[
B). Cooling / PIGNE
C). Fuel / 344

D). Exhaust / Aoy

Q 66. In a four stroke engine, it requires .............. revolutions of
crankshaft to produce one power stroke. / dIX E:f$ ESE ff, Udh Urdr Ej$
ITT HI & 1T FHFUHR & IFHI Bl IS Bl g |



A). One / Ud
B). Two / al
C). Four / dIR
D). Six / B8

Q 67. Where does burning of air-fuel mixture take place in a petrol
engine? / USId §919 § arg-3y Y0 BT g8F Hel gidl 872

A). In engine block / EoE] e |

B). In engine cylinder / e sy |

C). In inlet manifold / 5"Ié\1c i||r-\-|l.h\|c5 H

D). In exhaust manifold / Q‘WT%C EIi—-\‘ILI’;I('S H

Q 68. In a diesel engine, the mixing of fuel and air takes place in
................ /TUH S ST, SyF R arig drfayor ___
A). Carburettor / W@f{E?

B). Combustion chamber / Q8- h &

C). Injector / _&'@IEE’?

D). Inlet port / E':T@IE e

Q 69. What is CRDI with reference to diesel engine? / SIad ENE| & H'E{?-fff
CRDI &1 87

A). Combined Rail Distributive Injection / CEIES ¥d %@aﬁa 's:@ram:r
B). Common Rail Direct Injection / BIHT YT STAVIE FOa

C). Cumulative Rail Direct Injection / aqg@ﬁ%a’ PGRSIREE 'i'\?ich‘ll"l

D). Collective Rail Distributive Injection / Hafeca Id %@f@:ﬁa Q@TEFH:T

Q 70. It is an air compressor that increases the pressure or density of air
supplied to an internal combustion engine. It is called .............. /g Udh
a1 HUTR g off 3aR® g8 917 &1 MY &I 715 g1 & ga1d A1 g9« B!
JeIdl 51 $U HTT ol -

A). Booster / ads
B). Scavenger / YA B



C). Supercharger / ﬁUTaT\_ITT
D). Pressuriser / qdld STl

Q 71. A cylinder in which the working fluid acts alternately on both sides
of the piston is called ........ / % Rfeisy 9d wrderdt g a1d-ard 3
fU%d & S X% &1d S g, HEATAT & |

A). Double acting / Sdd Qﬁ'ﬂ

B). Twin acting / 1?-_-[ Eﬁﬂ

C). Dual acting / SJd Q%W

D). Alternate acting / feede E%‘T

Q 72. In India, the vehicular emissions norms were first introduced in

.............. / HId |, 18T IS ATTD! Bl Ugal §1% H ow fear o

A). 1987
B). 1991
C). 1996
D). 1999

Q 73. SPM stands for ..............eunn. / SPM I g %

A). Suspended Particulate Matter / IRV ECHCS Llli-égbac EICQ
B). Standard Particles Material / %?iUSSr leéchc'{-l HEi\QQN
C). Suspended Particles Material / uss ufde e aelud
D). Standard Particulate Matter / XIS tlﬂ%??}[?f r= oy

Q 74. What health problems can happen due to air pollution? / dlf Ug¥T[
F B0 T W GAWE g I g2

A). Coughing / Qg

B). Asthma / QHI

C). Bronchitis / a‘fwg%&q
D). All of these / T Tl



Q 75. A tactile sensor is ......ccovevveinnnnn. / Th %EETE'?T Jav
A). Pressure sensitive / qdld & yfad dagasha

B). Input voltage sensitive / 1YC diees dagaid

C). Touch sensitive / < & ufa %’ré‘q’:ﬁfﬁa

D). Humidity sensitive / \}ﬂﬁ?ﬂ ddgaeid

Q 76. What is the function of carburettor? / d)ldﬂC{ BT BT A %?

A). To atomize and vaporize fuel /EE?'FT B BB 3T AT HIAT

B). To mix petrol and air in correct proportion / gl SJUld H L\Jg\lﬂ 3R
EEUCIREKIE]

C). To supply air-fuel mixture to engine cylinders / 3919 s &1 Bdl-
24T Ay &t ryfd HRA

D). All of these / T gt

Q 77. In a multi-point fuel injection (MPFI), there are ............. Injectors
for six-cylinder engine. / Tdh a‘g'-%g g‘ﬂ:f 3@@? (MPFI) ﬁ, BX fdsy
sAefaw___ g9 gid B

A). One / Ud

B). Two / Gl

C). Three / GG

D). Six / 9%

Q 78. In a diesel engine, fuel is injected in the combustion chamber, when
the piston ...... / 19T 99 B, YT DI G54 & H Ul ol §, IS
% ...

A). Reaches near top dead centre / PILRTIR Sh'S'( °K} l4§tl<‘ll %

B). Just starts moving from top dead centre towards bottom dead centre /
Y RIX &= I a7 Y &= $1 3R IA1 Y& Sl §

C). Reaches near bottom dead centre / 9 f&IIY % & UIY Ugadl &

D). Just starts moving from bottom dead centre towards top dead centre /

dd R &= ¥ /Y X F=% &1 3R IA Y& HIAT §

Q 79. What is the type of injector shown in figure given below? / CIE] %Q
T 9T ¥ 59 UeR &1 goideR fowran 1 g




L j Pressure pin
AL

Nozzie body

Nozzla neadle

| ¥ t Inlét passage

| Pressure chamber

b
XF
\ ] 2 7 Spray hola
= .

Pintle

A). Single hole type / Thd f&g gaIR
B). Pintle type / ficd o

C). Multiple hole type / 9§ f&g gdIR
D). Pintaux type / fice UaR

Q 80. Which type of fuel injection system was originally used for large
stationary and marine engines and now seldom used? / 59 gpR & gﬂ:f
T YUTEl & IUAT Hd ¥ § 99 RT 3R gl g9 & fyg fpar sran
T IR 39 MAT g Hft 3P SWAT

A). Air injection / dIg 3@332'[?

B). Airless injection / AIgRfgd ORI
C). Mechanical injection / gifA® 'ék?lch‘il-‘l
D). Solid injection / 3 gﬁmq

Q 81. In thermosyphon engine cooling system, there is (are) .......... /
YATAISH §99 faad gonar 8, ____ §ar g

A). One pump / Ud U

B). Two pumps / AReL|

C). Three pumps / diq dg

D). No pump / aﬁg 4y 98!

Q 82. What is used to measure horsepower of an engine? / U B &I

AYF B 7193 & T = ud far San g2

A). Pyrometer / IArgardt
B). Dynamometer / @g:fﬁfrﬂ_cr?
C). Magnetometer / ﬂ'a$c_q'mtﬁ
D). Manometer / AAEeY



Q 83. The dashboard indication as shown below means .............. / CiE
R\ TR SUNS Tbhd BT AL § ..o

7

A). Temperature warning light / dIUHI ERIEEIRCEIEL
B). Oil pressure warning / SRECIEERICEI

C). Low fuel notification / ®H 'sﬁ?Ff Jarg=t

D). Emergency indicator / ATTRTAT GHhdD

Q 84. The dashboard indication as shown below means .............. / :ﬁ%f

@y TR SUTNS Ghd BT AL G ..o

I-Eﬂh
e

A). Oil pressure warning / qd <ard IdrgHt

B). Check engine warning / 5\)1"1 S ®t Iard-)
C). Temperature warning / dIUHIH Pl adldd‘]

D). Pressure warning / cdId P Adra-

Q 85. An engine cranks too slow to start. What could be the problem? /

TH §99 b L= o4 & [T g N §| TP T AW 81 IH A 82

A). Engine problem / ng:fa'ﬁ qJHY]

B). Faulty neutral start switch /_QPWQ\UT deTy wre fag

C). Open relay in the control circuit / $U§Pfa gfhe o Yol R
D). Damaged pinion gear / gfauw fufaga Moz

Q 86. If the starting motor does not crank the engine, what is the first
thing to be checked? / If¢ wIféT MeI 99 &I b 8 HIat g, dl I
Ugd SId Pt ol arelt el &1 82

A). Solenoid /Uﬁ:ﬂﬁ‘[?ﬂ

B). Battery / s

C). Starting motor / wrféT Mex

D). Wiring and cable / a3 HId



Q 87. A path between two points along which electric current can flow is

called ........... / < fdgstt & &g &1 ue a1l 9 d iy faggd 4y uarfed &
gede HEATd o
A). Relay / Ra

B). Network / qTdd
C). Circuit / gfdbe
D). Loop / U

Q 88. What is the correct formula for current as per Ohm's law? / shn %
g9 & SrguR fagyq vare & faT g g7 & 82

A). Voltage/Resistance / A / ufady
B). Resistance/Voltage / ufady / o | e
C). Voltage x Resistance / e x gfady
D). Voltage + Resistance / dqrees + ufaiy

Q 89. Electroplating is based on ................... effect of electric current. /
fdg@d dud fdgga uaig & ___ UHTF gR MeTRd § 1

A). Heating / dIU-

B). Chemical / IHITH®

C). Magnetic / g’aaﬁtr

D). Physical / Nfas

Q 90. Which of these is poor conductor of electricity? / s'-lal' @ d;l-I{-II
faggd &1 paTad 82

A). Plastic / WiRe®

B). Wood / AH oI

C). Cloth / ®USI

D). All of these / T gt

Q 91. What is the scientific principle on which working of hydraulic
system is based? / 98 dq® RGid I § MU gIgeIfars gonet &1
HTdATad uUTRd g2

A). Bernoulli's principle / gt &1 Rrgia



B). Boyle's law / S99 &1 [HIH
C). Pascal's law / Ul DT SRR
D). Lami's theorem / ArH BT YR

Q 92. An one-way valve that lets air into the reservoir of a compressor,
but doesn't let it out, isa ............. / TUh -9 ared ol Th HUYI & PUs H
84T o7 ¢l §, AfhT 39 18 8! Awaq a1, T g

A). Check valve / JPH dred

B). Flow control valve / Udlg ERENECIE
C). Directional valve / fA=T@® dTed

D). Receiver valve / Rty ara

Q 93. Which welding process uses flux coated electrodes? / P ot AfET
gfrar re Afid SARIS BT IUAT S 72

A). Electric arc welding / 3@[@$ e Af@T
B). Gas welding / ﬁﬂ af@m

C). Forge welding / BIe afegT
D). Thermit welding / yffe afEn

Q 94. What type of flame is used in gas welding? / g AfET & f5g uapR
& A BT IUAT fbar A1 B2

A). Oxy-acetylene flame / ﬁﬂ?ﬂQﬁ[ﬁ?ﬁ:{ o
B). Oxy-hydrogen flame / ﬁﬂ%ﬁ-@g@ﬁq o
C). Oxy-LPG flame / iToRit-TAUISH ot

D). All of these / T gt

Q 95. A mallet is used in sheet metal work as a striking tool. It is made of
............. / TH BAT HT IUAT 2T Acd I& § TH o9rd fioiR & =0 o
fParsmargla J g1 B |

A). Copper / didl

B). Brass / iG]

C). Plastic / WiRe®

D). Hard wood / I¥%d aweﬁ



Q 96. Helical grooves cut on the body of a reamer are called ..................
T AT & G- UITT UR ¢ gfdsmd idl &l ST ol 7 |

A). Flutes / UqJC
B). Face / wYg

C). Heel /ébfﬂ
D). Recess / Rag

Q 97. A cutting tool used to finish and enlarge a drilled hole is known as

.................. / U% fga fd 13 & & URH T R 931 HA & AT wam
far S17 arar wers MR A Y ST ST B

A). Die / SIS

B). Tap / U

C). Reamer / DRy (%§Hﬁ$)
D). Scraper / ﬁ?ﬁ:ﬁ

Q 98. What is a bent snip used for in sheet metal working? / 4Td-dlaqX G
&9 § d¢ 99 &1 uadm i fear orar g2

A). To remove burrs / TTSTTSIEC X HIT B ]%’[Q

B). To make a hole in a sheet / Uch dIgX ﬁQ$ B am%%ﬁm

C). To bend a sheet / dIGX 'J:ﬁ‘s’ef & ﬁm

D). To cut a sheet along a curved line / Td YHIAQIR IW & GIY-Iq1Y TP
e Bl e & oy

Q 99. Why are crankshaft bearings made in two halves? / SHAT IR

& < few § & 99197 91y g2

A). It is easy to manufacture them / 391 AU ST ST §
B). It is easy to replace them / 6’% ufazurfod w31 A %

C). They wear less / 3 ¥ fugq %’

D). It is cheaper to manufacture them / S-®] fFafo w3 9@ %

Q 100. Which two parts are connected together by the wrist pin? / R

T g1 19 A @ I U Y 9GS B &2



A). Connecting rod and crankshaft / FHAfFT GBS 3T PH UMY
B). Piston and crankshaft / fUeq GﬁT %%Qﬂqﬁ

C). Piston and connecting rod / U iy wAfRT BXS)

D). Crankshaft and camshaft / FHAUE 3R %HQWT}E

a_

Q 101. What is the function of tachometer? / Chl frex &1 H1d | %?

A). To measure vehicle speed / digd &1 fa & AT

B). To measure distance covered / d4d Gl ‘T'sc §ﬁ CAREEI

C). To measure engine RPM / SS9 RPM CAREE

D). To measure temperature of lubricating oil / ﬁf$7ﬂ§ qd & ArgHA Bi
HIYAT

Q 102. If your colleague complains of breathlessness and chest pain, what
should you do immediately? / 3T TUD] H€$Iﬁﬂ:[ﬂ 1}3_?[%[ M A A E{é
@ RAIHIad &A1 g, d AIH g¥d R HIAT AT

A). Get him to lay down flat / 3 HYT d¢rH & T o o1 @rfg T

B). Encourage him to stand up and walk around slowly / 3 @3 Eﬁe[ 3R
gR-4Y Id4 & T manfsd

C). Make him sit in a comfortable position /G@ T ARTHQI D ffa #
9314

D). Give him a warm drink / 3T Th TH Uy an?fé

Q 103. A truck is also called .........coovee.. .. / ngmﬁ
ST B

A). Trailer / an
B). Lorry / ant

C). Van / a:f

D). Carriage / R

Q 104. Identify the type of crane shown in figure given below. /:ﬂ%f al ‘T'sc
Apfd & fAQT T¢ = & YHIR Bl ygar- |




A). Gantry crane / ﬁf_\;\p[ &

B). Jib crane / ISEE:E]

C). Overhead travelling crane / eﬁa'?%‘s’ a_q’ﬁ'f"[ e
D). None of these / gqﬁ I a?r‘s‘ :[Epf

Q 105. What type of threads are used in heavy duty screw jacks? / HYIdd
W OF | ¥ UHIR & ST &1 IUANT fbar rdm g2

A). BSW threads / BSW 4gd

B). BA threads / BA 348d

C). Square threads / IR a_efi:[
D). Knuckle threads / 9®d QS:H

Q 106. A diesel engine usually emits excessive smoke during
................... / TH ST 97 AR U & QIRT9 AARF YT &1
I HIAT B |

A). Starting / Y 3HId

B). Idling / Afspgar

C). Accelerating / Jads
D). Decelerating / ftar w39

Q 107. After fitting rings on a piston, it is inserted in the cylinder with the
help of a special tool called ................. / Uea X R & e A &
9Ig, 39 & AUV IUSIY &t Aeg ¥ s & Sram oral ¢ 59
T o1l § |

A). Ring tester / R e

B). Ring cleaner / R TR

C). Ring compressor / R HUAR
D). Ring expander / R Q?R:fa'gq



Q 108. One of the functions of induction manifold in an engine is to

............... /TS ESHTHMRT AT S F FIA A I TH @ o

A). Meter the fuel /%‘H:f CAREE

B). Regular the fuel /EF‘EFT P FIRYT HIAT
C). Vaporize the fuel /éﬂ:f P! AIfSId HAT
D). Atomize the fuel / SYT BT HUNHIU HIAT

Q 109. Identify what is shown in figure given below? / tra%n?f f& g %Q
e faF & @ fe@man T4 g
i |

A). Glow plug / LGRS

B). Heat plug / g’TE 'R

C). Spark plug / WTHh &I

D). Ignition plug / g@fQT:f vkl

Q 110. Among the following lubricating oils, which one has the highest

viscosity? / Rufafaa fieTs o« § 9, f59d 99 #fe fufaurya grar
g2

A). SAE 80
B). SAE 50
C). SAE 40
D). SAE 30

Q 111. Which engine part serves the purpose of smoothing out impulses

from the engine? / 39 ¥ YaDHI B! YAIE HA & I Y BT T I T
H1d HIAT 82

A). Clutch / add

B). Shock absorber / 3T9Td AT H
C). Flywheel /Wg%}a

D). Crankshaft / %f_m'_Q'ITtIE



Q 112. Which mobile hoist is used for self loading and shifting from one
place to another within a factory? / fod wvE™ & Hiaz T TYTd I gﬂ%
YT IR W-Tars 3N WIATGR & T &9 O Iqaia Idrasd Iuadi fea
IGIE

A). Chain hoist / 99 IAIAP
B). Forklift / BB oIUE
C). Jib crane / IS
D). Gear hoist / fTaR IdId®

Q 113. A transistor consists of a base ............... / Th ET%TET " Th R3]

A). Diode and emitter / TIATS 3R Hﬁ[?f?

B). Diode and collector / STAE MY HAIY
C). Emitter and collector / Q&VC’? G?N FATI
D). Diode and thyristor / SIAE 3T %ﬂ_&'ﬁg?

Q 114. What is an ammeter designed to measure? / QIﬁET P | ATY &
forg =ran Tan g

A). Voltage / A

B). Current / f[dggq Udrg
C). Resistance / ufady
D). All of these / T Tl

Q 115. What is normally the frequency of flashing light in a direction
indicator? / U AN & # wfRiT @rge &1 sngfy qrard: & it g2

A). 20 per minute / 20 PIGREG
B). 40 per minute / 40 ufad ae
C). 80 per minute / 80 ufa fqe
D). 160 per minute / 160 Ufd AT

Q 116. The opening and closing of valves in relation to piston movement
is called ........ / fUeT S9ra+ & 9y & ared & gaq MY & g1 B
FE a1 7 |




A). Valve operation / dicd AT
B). Valve timing / dled ‘c’r‘a’ﬁm
C). Valve mechanism / dled GE
D). Valve overlap / died 3Ty

Q 117. The tail light in a car glows along with .................. / TITE;ﬁ CIRPERI]
gt ___ & WY § 995 7|

A). Panel light / U979 @Ts¢

B). Head light / 8 ®IgC

C). Interior light / 's"é‘rﬁtr? digc

D). Stopping light / I NIEX

Q 118. A type of fastener which has threads on both its ends is called
........... / BTER (F4F) BT TH TR s a4 {1 o3 gfeai gt §
________ BEAN & |

A). Rivet / Rae

B). Pin / U

C). Stud / ¥¢s

D). Bolt / §IcE

Q 119. The figure given below is a type of fastener which is used to join a
shaft to a wheel. It is called .......... / = fear a1 fa wreAR @1 Th YhIX
g Ol U TMUC &I UH g A s & frT ya fobar Snar g 98 Heandl 8-

-0 F-i" LENGTH = -'E'i
i r |
il % J

A). Cotter / e

B). Flange / LSS

C). Key / P

D). Locking plate / qAlfh T we

Q 120. The pitch of a three-start thread is, lead divided by ....................

/ TF f-w gt B U S g, 1’1 fAHIfa s

A). One / Udh
B). Three / GIGI



C). Four / dI}
D). Six / ¥¢%

Q 121. Which among the following is the best conductor of heat and
electricity? / FEfIfed & 9 @19 S iR faggd &1 99 =T YATAD §°?

A). Copper / GICH

B). Nickel / F&d

C). Aluminium /QFﬁIﬂﬁqq
D). Steel /@a

Q 122. Which of these is not required for C.l. Engine? / _'i’:fff I R C.I.
399 & T smazus 98 g g2

A). Inlet valve / 3?{?{‘6 dlied

B). Exhaust valve / QTG\TJE dled
C). Spark plug / WIS W

D). Injector / 3@3??

Q 123. What electrolyte is used in lead acid battery? / s Qﬁ[_s' e o
59 s H1 IUAT fHar Srar g2

A). Hydrochloric acid / ags‘raa‘fﬁ$ Eﬁ[g
B). Sulphuric acid / HF@{L&$ Qﬁ[g

C). Nitric acid / AIgfe® TRiE

D). Citric acid / UIsfd® Tfye

Q 124. When a refrigerant undergoes sudden expansion, it causes

............. / 919 TH IFIAT HAF g1 a1 [TWR ¥ oA g, df I8
_________ BT BV §1 5|

A). Heating effect / dIU UHId

B). Cooling effect / AT UHTd

C). Little effect / hH UHIT

D). No effect / BIg UHId gl gidl



Q 125. The colour of tail lights in a caris .............. / FIRH T NIEFCIRS
______ gl g

A). Amber/ ﬁfa’?

B). Green / BXI

C). Selective yellow / Jafdea dar
D). Red / dId

Q 126. What is said to be 'backbone' of the vehicle and has all heavy parts
fitted to it?/ [ A®I AT BT YR HTT ordl & X forqd qoft wrd g a7

gId &7

A). Body / H¥3 HIT

B). Transmission / GAIU
C). Chassis / HEl

D). Springs / IE2eErs|

Q 127. These are made up of strips of spring steel and held together by a

bolt. What are they? / 3 f&IT ¥ &} gfedl & 97 g1 § ik AT g TH
Y A O g1 9 o7 g2

A). Flat springs / e &g
B). Leaf springs / o
C). Layer springs / TR B
D). Coil springs / m”'s;a &g

Q 128. What is fitted at each end of the propeller shaft? / TMUEAI AU &b
TIH G U 1 qIAT Al g2

A). Cotter joint / P Gﬁg

B). Universal joint / qﬁaﬁa \_Sﬁg
C). Knuckle joint / P d \_Sﬁg

D). Flange joint / Ao Gﬁ‘s’

Q 129. A fan is fitted between the engine and the radiator. It is driven by
................ / 99 3R IfETeI & 9 TP U\ a7 g1 g | T8 I




A). Chain / 9
B). Belt / ST
C). Gears / forgd
D). Rope / IT

Q 130. The deposits formed on battery terminals and connections should

be removed and terminals and connections should be coated with ........ /
gt effadt sk waswAl uR nfdd I & ge1 fiear s Arfeu 8iv effaat
MM eATA B Y afud fear sna

A). Wax / 39

B). Grease / IV
C). Vaseline / g
D). Graphite / ‘}Itb—fg?:’

Q 131. What is used to check the amount of oil in the engine? / gﬁf:f o ad

Dt AT BT JrF P T fHIHT yAT fHar Sdn g2

A). Depth gauge / 3 IS
B). Stake / XH

C). Dip stick / fSu Rew
D). Plug / W

Q 132. Both inlet and exhaust valves are closed during............... /
P ST STAC 3N TN dIed il §¢ 8ld ¢ |

A). Compression stroke and power stroke / ?itﬁ?;':[ Ej?ﬁ 3R Trav Ej$
B). Intake stroke and compression stroke / ERg Ej$ 3R ﬂ'tﬂgq Ejﬁﬁ
C). Compression stroke and exhaust stroke / ?rtﬂs:r @$ 3?[? Q‘\_Sﬁ?f Ej$
D). Exhaust stroke and power stroke / t{‘\_ﬂﬁf Ej$ 3?[? grar Ej$

Q 133. Which of these is not a part of transmission of a vehicle? / s’qﬁ |
EN . .
B T 918 & IR 1 ff= 98l g2

A). Clutch / addd

B). Gearbox / UEEEIE]

C). Propeller shaft / MUdR MU
D). Chassis / HEI



Q 134. Which instrument in a vehicle indicates the speed at which it is
moving? / U A8 | ®I99 IUBIT I 7T Bt 3R M H3ar g g ux
g Id 8T =2

A). Speedometer / WigrdieR
B). Tachometer / THIHeR
C). Odometer / grHeY
D). Trip meter / EU e

Q 135. The engine is connected to the transmission by the ................. /
ES LS &)1 T afieT § 931 g g

A). Accelerator / dX

B). Clutch / acid

C). Foot brake / C EED

D). Hand brake / %Ug &

Q 136. What material is a commutator made of?/ Udh $EL%ET fog e
J §1 g1 §?

A). Iron /?‘ﬁET

B). Copper / didl

C). Brass / aiad

D). Aluminium / TgHIfATY

Q 137. The process of converting alternating current into direct current is

called ........ / grad ur &1 ey urn # uRafda &7 &t ufsar &1
_________ &gl ol 5 |

A). Rectification /i’%ﬁ%ﬂq

B). Recertification / Raféftrerara

C). Electromotive force / f&qu UYHIdq dd

D). Counter-electromotive force / BT iaqu UYHId ddf

v .

Q 138. Where is spark plug fitted in a petrol engine?/ L\4I§I('1 ERNE| " wid
@ HEI G gl g2




A). On the cylinder / sy Uz

B). On the cylinder head / fafdsy ofid oz
C). On the crankcase / %%éﬁr g

D). On the rocker cover / AP HIT U

Q 139. Air-fuel mixture is drawn into the cylinder of a petrol engine due
to vacuum created during ........ / ?:IT?}'SE%F-[ iy &1 & aﬂq e

IR & HRU Urd 399 & Raferey & ofar oran g

A). Compression stroke / ?ﬂﬂg:f Ej$
B). Exhaust stroke / Q"\_ﬂ}f@ Ej$

C). Power stroke / Trgv Ej$

D). Suction stroke / IR Ej$

Q 140. The valve mechanism is operated by ................. / died dF
ST arford gran g

A). Crankshaft / SHIATI

B). Camshaft / FHTUC

C). Propeller shaft / WUEAR AT

D). Oscillating shaft / AT I

Q 141. Bleeding of brakes implies .................. / a$é€aﬁ%’n€rmaﬁ%
e |

A). Removal of brake fluid /a$ %d @ g

B). Removal of air from brake lines / I&H NIEE] | arg ol GG

C). Flushing of brake lines with water / ot & Y 9 Fﬂ_&':ﬁ PT TR
D). Lubricating brake lines / IH FITg:ﬁ P fIHaT HIAT

Q 142. When brakes are applied on a moving vehicle, kinetic energy is
converted into ...... / Od EK] TIT@_& U3 9§ GRIILY ST %, ar wfas Swt
g9 ordl 3|

A). Heat energy / S ol
B). Potential energy / fufas ot



C). Mechanical energy / e ot
D). Electrical energy / ﬁ‘o:qa Sl

Q 143. What does CVT stand for?/ CVT I T 3T ©2

A). Continuous Variable Transmission / d)d‘\lfizlﬁ{ﬂ dfvusd ﬁﬂﬁﬁﬂq
B). Connected Variable Transmission / HAIS alﬂ&k’dﬂ Ej?[ﬁfQT:f

C). Coordinated Variable Transmission / PHrfeacs %Rﬂzaa Cffﬂﬁfﬂq
D). Clutched Variable Transmission / dddS ai\{k’@lﬂ aﬂﬁf?ﬂ:{

Q 144. The brakes employed in cars are usually operated .............. / CIEl]
AN o9 wwad IAd B |

A). By compressed air/ Htﬂ%ﬁ aryg gIg

B). Mechanically / ?3'[5[3?‘[ U H

C). Hydraulically / ag@ﬁ‘f$ U

D). By engine vacuum / 9 %EPIH gIxT

Q 145. How is parking brake normally operated? / ufdT 9 IqrH TU

I darferd fear s g2

A). By operation of hand lever / %US NIERECIREINE FIRY
B). By operation of foot pedal / P<C USd & JATa- EIN
C). By operation of a switch / Rag & dara- IXI

D). By operation of a push button / YR dcH & FATA gIXI

Q 146. A shock absorber is also known by the name .................... / BIED
ISR B ___ 1 g off S ST g

A). Damper / SR

B). Torsion bar / aARYT 9IR

C). Spring / i

D). Independent suspension / s%ﬁ%c Q-I{-L\J'-‘%I'-I

Q 147. What is the purpose of tyre rotation on automobiles? / sﬁ'e‘rﬁrmsa
U 19X VYT BT I AT 82




A). To prevent ply separation /TIT‘%c JYah T BT A BT
B). To equalize tyre wear / CIOX & fIgrg & AT HIAT
C). To make ride better / 9IAl Cal @f‘s’m CEIGI

D). To reduce tyre wear / ClUX & fU9rg B HH HIAT

Q 148. If the tyres wear more on the edges than at the inside, then the
tyres are ............ / afg eraR =g B JA H fo=_I &1 a¥% ¥ 3Hf¥% fagd
g, d TR gl

A). Over inflated / s edl ard
B). Under inflated / ®H &dl ard

C). Properly inflated / IER B dl ard
D). Not inflated / &4l ard :fﬁ

Q 149. The lid that covers the engine top in a car and situated in the front
is called .../ [T€ Ol TH &R § 97 & MY & FaR HIAT § SR THA FI
IRAMGAEIA ______ HgI ATl |

A). Gill / TI@

B). Softtop / AU elq

C). Bonnet / T

D). Spoiler / m‘rsav

Q 150. What is the purpose of having bumpers in a car? / Tdh DX A dux

B BT R I Bl 82

A). It reduces impact in case of low speed collisions/ g ®H fa & eHYg
& AT H GUI B HH HIAT 3
B). It improves aerodynamics of the car / Ug dDIX & ?ﬂgﬂﬁrﬁ H YT pXdl

g

C). It improves performance of the engine / I8 94 & Ueea o YT dXdl

g

D). It improves appearance of the car / g IR 3 fgw@rae # YT dXdl %

Q 151. The central portion of the wheel is called .............. / U%ﬁ *® 7Y
HITT BT HEl ol 8



B). Scale / Hd
C). Hub / B9
D). Axle / TRHd

Q 152. Which transmission unit "allows the inner driving road wheel to
rotate slower than the outer wheel but still maintain a drive to both
wheel"? / @19 I TAAYT gfae g3 Srgfdn As &a o1 a1gdt uley ot
ga & it wfa ¥ gura ot srgmfa

A). Final drive / oI d gigd
B). Gearbox / UGG

C). Clutch / &dd

D). Differential / fswmIfRrga

Q 153. The central part of a typical universal joint is called ............... /

us ARy gRada s s g umer ®EA T
A). Bearing / ST

B). Joint / Sl

C). Spider / HITSX

D). Trunion / Eﬁq:f

Q 154. Two meshing gears have gear ratio of 4 : 1. If the smaller gear has
12 teeth, what is the number of teeth in the larger gear? / Epf AfRIT fAgw
& g AquId 4 : 1 8, I} B Mg & 12 Thd @, @ 98 MR & <idl
e A/ g

A). 12 teeth / 12 Gid
B). 24 teeth / 24 Gid
C). 36 teeth / 36 Gid
D). 48 teeth / 48 Gid

Q 155. The gears in a constant-mesh gear box have teeth, which are
inclined to the shaft axis. These gears are called ......... / HiLT-AY IR
Sl & Mg o afd §1d 8, S WUT 3H& IR Fb B1d 8| 37 MU B
FTA B

A). Bevel gears / d9d fraR



B). Helical gears / %ﬁ‘[$a gz
C). Worm gears / gd gz
D). Spur gears / ¥R firax

Q 156. The crankshaft transmits torque directly to ................... / SHUTE
e U odh aRa &3l 3|

A). Flywheel / WT'SC%)[F[

B). Differential /%Uﬁ'&fqa

C). Road wheels / RUES) %)[a

D). Propeller shaft / PICGERUL

Q 157. How is the core of a radiator cleaned? /%%Q_C’? P DI Y TH
far sar 82

A). By cleaning outside the fan side / 0% &I dXF digX Y IH HIA

B). By reverse flushing / fad wafaim IR0

C). By cleaning from top to bottom of core / PR & FUI Y A dH th—[_sc
BHID

D). By cleaning from top hose to bottom hose / MY 9kt T 2 ot A T
qIth XAl

Q 158. Which of these is a light vehicle? / 391 ¥ I3 ghT dIg gial 82

A). Bus / 99
B). Lorry / s
C). Van / a9
D). Jeep / S

Q 159. What is the colour of LPG cylinder? / Qatﬁ\?ﬁ s &1 3T T EBR‘IT

g7

A). Red / dId

B). Maroon / fpor|

C). Black / &Tdl

D). Peacock blue / ARG e I



Q 160. What is first aid? / myfae Rfedr wn ﬁ?‘ﬁ %?

A). Treating a victim for shock / A ¥ u"r%a Hfad @1 ENIEH

B). The first help given to victim of an accident / ETE@ & e aafeq o1
& 74 ugdl AEg

C). Assessing a victim's vital signs / uﬁ%a Ifad & I[gc_dqpf IdHdl &1
HTh A hHAl

D). Enquiring the cause of accident / §Ef_c’:ﬂ & DI DI PEGIE]

Q 161. The unit of capacitance is ................... /%ﬁﬁf%zﬂ (?JTﬁFIT) Pl

A). Henry / %:fﬁ
B). Ohm / 3fIH
C). Farad /%5?3
D). Mho

Q 162. What type of lifting equipment is used in service station for
servicing a vehicle? / d18- & AW d & fov gfdw Rya & 59y &
fafodT IusIur B IUAT fHar &rar g2

A). Hydraulic press / ETE'ET%T$ Uy
B). Screw jack / ¥p EZ

C). Hydraulic hoist / 6I$§\Il?1d> 6T$%c
D). Arbor press / e U

Q 163. What is the point angle of a centre punch?/ JUeT U &I P&'@ BHIT
&1 il §?

A). 30 degrees / 30 st
B). 60 degrees / 60 &Rl
C). 90 degrees / 90 St
D). 120 degrees / 120 TSI

Q 164. The difference between maximum limit of size to its corresponding
basic size of a componentis .......... / Th Eﬁ% MBI I AfYHIH e A
3P AIFT A MHI B AT BT AT G v



A). Actual deviation / AIfd® fag@A
B). Upper deviation / 3= CERE

C). Tolerance / H&ldl

D). Lower limit / g A



LEVEL 1 ANSWER KEY

Question . Question . Question . Question . Question .
No. Option No. Option No. Option No. Option No. Option
1 B 41 D 81 D 121 A 161 C
2 C 42 C 82 B 122 C 162 C
3 B 43 B 83 B 123 B 163 C
4 A 44 A 84 C 124 B 164 B
5 B 45 C 85 A 125 D
6 C 46 D 86 B 126 C
7 B 47 B 87 C 127 B
8 C 48 D 88 A 128 B
9 C 49 B 89 B 129 B
10 D 50 A 90 D 130 C
11 A 51 B 91 C 131 C
12 D 52 A 92 A 132 A
13 C 53 B 93 A 133 D
14 D 54 A 94 D 134 A
15 B 55 C 95 D 135 B
16 C 56 D 96 A 136 B
17 B 57 D 97 C 137 A
18 C 58 B 98 D 138 B
19 A 59 A 99 B 139 D
20 B 60 C 100 C 140 B
21 C 61 C 101 C 141 B
22 D 62 D 102 c 142 A
23 A 63 C 103 B 143 A
24 C 64 D 104 A 144 C
25 B 65 B 105 C 145 A
26 D 66 B 106 C 146 A
27 C 67 B 107 C 147 B
28 C 68 B 108 C 148 B
29 A 69 B 109 C 149 C
30 A 70 C 110 A 150 A
31 A 71 A 111 C 151 C
32 B 72 B 112 B 152 D
33 D 73 A 113 C 153 C
34 B 74 D 114 B 154 D
35 C 75 C 115 C 155 B
36 C 76 D 116 B 156 A
37 B 77 D 117 B 157 B
38 B 78 A 118 C 158 D
39 C 79 B 119 C 159 A
40 D 80 A 120 B 160 B




MECHANIC (MOTOR VEHICLE) THEORY LEVEL-2

Q 1. The container of a lead acid battery is made of .................. / TUh I
tRigded @ HeaR Y g1 a1 § |

A). Aluminium / TgHIfATY

B). Cast iron / eddi FﬁET

C). Polypropylene/ PINIPICGIE]
D). Carbon /$ra‘:r

Q 2. In which type of gearbox, there is a fluid clutch? / P9 ysR &
fraRsie #, TP d¥d o9 il 8°?

A). Sliding-mesh gearbox / Wg%ﬂ—f{q UEEEIE]

B). Constant-mesh gearbox / FiIKe-AY fgearey

C). Synchro-mesh gearbox / IREAR: L RUREGIES]

D). Automatic gearbox / arerAfes Maveiay

Q 3. What is not true about flywheel? / W‘s‘o—eﬁa & TN H F1 99 :[_Eof %?

A). It is a mechanical device / Ug Udh gifA® TSI %

B). It has low moment of inertia /‘&"Hﬁ IGE] \_rfgaT‘q;Uf %PFHT %

C). It is a storage device for rotational energy / 4% ‘E‘LUT:ﬁ B?G‘T% ﬁ'ﬂl Th
€IS IUDHI §

D). It reduces fluctuation of torque / g <l & JdIR-deld P HH B %
Q 4. What is the type of rear axle used in trucks? / ?A.'?baf ¥ g E?fef ard
fITA Y BT UHIR BT B2

A). Semi-floating type / G T UPIR

B). Fully floating type / qp‘f ENREIES

C). Three-quarter floating type / GiE] Eﬁ?ﬂg ENREIRS

D). None of these / 3-_-fff I aﬁ-g :f_sbf

Q 5. What statement is true about tubeless tyres? / a@’@[ﬂ TTATH IR
DI HYT T5l 82

A). Car's ride is smoother / ®IX I G MAHSITD fﬁ?‘ﬁ %

B). Fuel efficiency is better / _QE?F‘T Q&dl é‘s’av Epf\_‘ﬁ %

C). If punctured, air flows out slowly / gfe dwmx Eﬁ Gﬂa, ar edl iy dlgX
fead g

D). All of these / T gt

Q 6. A tyre is designated as 185 65 H R 13. In this what does 'H' indicate?
/ U TTIX P 185 65 H R 13 ATHIfGT far mar g 398 ' o1 319 w1 82



A). Speed rating / Tfd @3

B). Type of ply / UXd bl YhIX

C). Aspect ratio / G{ﬁ-ﬂi@?ﬂ STUrd
D). Diameter of rim /ﬁﬂ Dl Iy

Q 7. What is added in the stems of valves to avoid their overheating? /

gredl & WH H I9% e 76 g9 F 999 & frT o SirsT o g2

A). Potassium /@f%&[qﬂ

B). Sodium /@I%Z[I{

C). Calcium /%@qu

D). Magnesium / I fRrgg

Q 8. The purpose of a shock absorber is to damp out road shocks. Which
of these is not a type of shock absorber used? / Tdh T ATUAYSH Bl
I ISH & Fch B $H HIAT ¢ | 3TH F ®IF I1 YA fHd 17 arel T
OHIR F Adh ATATD gl §?

A). Telescopic type / CHWHIUD B

B). Vane type / CER'CAE

C). Piston type / fUxT g&arR

D). Fixed type / frRs T®R

Q 9. What type of oil pump is most commonly used for engine lubrication?

/ 397 989 & [T [T gsR &1 dd du 999 % IuAT foar orar g

A). Vane type oil pump / 39 UPHIR dd 4T

B). Plunger type oil pump / WX YHI dd uy

C). Gear type oil pump / 1A Y&1IX dd U

D). Rotor type oil pump / AT YHIX dd UY

Q 10. This type of oil filter consists of a number of discs in a casing
through which the oil passes. What is this type of filter called as? / ¥
I8 & dd fheeX U U& a0 § &3 S qidl 8, NP Wead § ad Toval
I STUUPR & e &I R &

A). Cartridge type oil filter / Wﬂ%\_ﬂ UHIR & dd fheex

B). Edge type oil filter / TS YBIR & dd e

C). Centrifugal type oil filter / PEITUR® UHIX & dd [hee

D). None of these / 3:fff I Ebaf's£ :f_a

Q 11. What is the main purpose of providing a fan in the engine cooling
system? / $979 AT HUTSH H TH U1 UG S HI T ST T 82




A). To disperse engine fumes / Bk HQ CARaNIE]

B). To cool external surface of the engine / ESE 3| GTE'QLT qJde &SI
HIAT

C). To pump hot air over the cooling water, if too cold /qﬁ ogd GEl _6?[ ?‘ﬁ,
3s Uil UX TH g9 UY Al

D). To provide air flow when vehicle speed is low / dlg- CaRIGRCE:| @if U
drg Udle Uald hHI

Q 12. As per Bharat Stage IV, emission norms for passenger cars (Petrol) is

.......... / HIRA WS (v & AR, T3 S (V) & T Igoi a9 ¢ -

A). CO (0.5 g/km)

B). CO (1.0 g/km)

C). CO (1.5 g/km)

D). CO (2.0 g/km)

Q 13. BS-VI grade fuel will have ....................... / BS-VI DI "Egﬁ‘d:f H €3fT|T

A). 10 ppm sulphur / 10 ppm b
B). 15 ppm sulphur / 15 ppm HhX
C). 18 ppm sulphur / 18 ppm HclbX
D). 20 ppm sulphur / 20 ppm HehX

Q 14. Which pollutant is not contained in the vehicular exhaust

emissions? / B9 I Ug¥® A=l & FAerg s # Afga 781 grar g2

A). Lead / T

B). Ammonia / AT

C). Particulate / BT

D). Carbon monoxide / CACE] ﬁf:ﬁGﬁ’aﬂng

Q 15. A device is fitted to motor vehicles to chemically reduce some gases
produced by internal combustion engines like NOx, CO, HC into less
harmful products. Name this device. / T JUDH T Pl AR dIES'-I\I' " NOXx,
CO, HC O 3aR® &8 S99 gIRT SAfed &

A). Tail pipe / eq argy

B). Muffler /f HBH WX

C). Catalytic converter / IATH URTd®
D). Baffles / HIGEICED

Q 16. In petrol and diesel engines, a nitrogen oxide emissions reduction
technique is used. It is called EGR. What is full form of EGR? / ﬁr@a 3N
SIS 99 H, TH A3 ARIZS IAo A § gA9 Pt db1d BT SUAT




T STAT 21 SU EGR PG AT &1 E

A). Exhaust Gas Recirculation /Q‘\_ﬂﬁf ﬁﬂ ﬁ’ﬂé@ﬁﬂ:{
B). Exhaust Gas Regulation / T\”GﬁE ﬁﬂ i’ﬂ@ﬁﬂq

C). Exhaust Gas Redistribution / (”GTE ﬁﬂ ﬁ%@:@lﬁq
D). Exhaust Gas Remedy / Q‘Gﬁﬁr g IAS

Q 17. What is the type of supercharger shown in figure given below? / CiE]
T 73 fax o YUITISR &1 ST SR guiar 737 g2

A). Centrifugal type / ®-XIUYUIRD THIT

B). Centripetal type / FIHTI GBI

C). Roots type / ¥¢C UDIR

D). Vane type / CER°EIES

Q 18. Which type of core of a radiator has a large number of individual air
cells which are surrounded by water? /%%QE? & BT UBR & B H asﬁ
Yo # fafry arg SIfiere gt € o urt 9 fod |t g2

A). Tubular type / AR YhIX

B). Gilled type / I g&R

C). Honeycomb type / BN ®Id B

D). Flat type / AT TP

Q 19. The ratio between the number of teeth on the starter motor pinion
gear and the engine flywheel is about ............. / wId AreX T Moz
3R 99 UATS I UR Sl Pt W/ & st BT AFUTd YT g

A). 1:05
B). 1:10
C). 1:20
D). 1:50
Q 20. The basic purpose of the overrunning clutch in the starter drive is

0 e, / wIEX 8139 H IR MAT (a18X & d) 709 &1 ga I

A). Assist the solenoid during cranking / ST H aﬂ:[ gRArfa®
(‘H\lﬂ"ITQS) ﬁ delddl XAl




B). Pull the starter pinion gear out of mesh / e fufaga frae &t A @
EIRRSEE]

C). Disengage the armature when the engine starts / 394 Y= E,P[%[ °K3
AT B AT HIAT

D). Keep the hold-in winding energized during cranking / W‘T & aQT:T
fdfa @ g3 arsfw & i x@=

Q 21. Which of the following provides the magnetic field required for
starting motor operation? / ®IET WeR FaTad & AT MaWH gWEHIT &
frafafed & ¥ 319 ugrA sy g2

A). Armature assembly / AMHTY AT

B). Field-winding assembly / B TJITE'%‘T gt

C). Solenoid /Uﬁ:m%‘fﬁ

D). None of these / E':Tff I Eblfg :fébf

Q 22. The symbol shown in figure given below is of ................... / EIE| %E
e g o fewrar war udtes Eald

A). Butterfly viave / §CITATS dTed

B). Needle valve / ST dared

C). Ball valve / gid ard

D). Gate valve / e ared

Q 23. If your colleague injured his arm and is bleeding profusely, what
should you do? / Af¢ 3MU® FTHH 7 U §ig P! T1Id B fGAT § 30
95d g7 98 QT 8, O NUD! T HAT A2

A). Put the injured limb in cold water / YUldd 37 I 3T Ut # 1A

B). Apply direct pressure on the injured part / Yldd %R?[ g3 Y g1
amy

C). Give him an aspirin / 3T TUh Q@ﬁ:{é

D). Make him sit comfortably / I T U a_c')TQ

Q 24. The Heavy Vehicle Factory (HVF) is located at Avadi in ............... /
YT F18 9 HIRGTT (HVF) # srardl # fUd 3|

A). Mumbai / Ha’g

B). Hyderabad / G
C). Bengaluru /é"ﬂqs
D). Chennai / %fﬁ'st



Q 25. What is an engine called if its bore diameter and stroke length are
equal? / % oI T HEATdl § TfS ITHT R Y 3R K'Hh B qAHS
ITEX §?

A). Low speed engine / ®H fa aran e

B). Square engine / W1 91

C). Under-square engine / 3EI-THIIR 99

D). Over-square engine / 3NIY-THIUR BN

Q 26. In the figure shown below, what causes reduction in engine noise? /

9 e U T #, 99 F W H HH BT B R gldl 82

A). Exhaust pipe / fAerg Fdt

B). Catalyst / IAIB

C). Muffler /f HBH WX

D). None of these / 3'_'Tﬁ I Eblfg :fébf

Q 27. The type of reflector used for automobile head lamp is ............. /

%] S 2

TS 3SAY & 1T ITAT fHT F17 ard Rudaex (Uddd) BT UPIR §

A). Parabolic / URAARY (UISITAD)

B). Spherical /ﬁf?‘ﬁq

C). Hyperbolic / fquzadia

D). Elliptical /a‘TEfq%ﬁq

Q 28. An engine valve is noisy. It could most probably be due to

.............. / TH S dled MR HIA 91l g | g GHad & P B

A). Sticky cylinder head / Rrofae Ridsy ofid

B). Sticky rocker arm lift / Rrofag Je ond e

C). Rocker arm bush worn out / 15K Y AH 3MH g

D). Sticky cylinder block / oty Rifkisy sed

Q 29. What instrument is used to measure cylinder bore diameter? /
RASY 9k o9 &1 71U & AT g IUHRO & IUAMT far orar g2

A). Vernier calliper / affaz 2I’JI?'ILR

B). Outside micrometer / ST AIFHIHICY

C). Telescopic gauge / CNIESAI RIS

D). Depth gauge / S A

Q 30. The opening and closing of valves in relation to piston movement is

called ...../ T IOq & g~ H aredl F A 3R §¢ &I &




A). Valve mechanism / dled ﬁ%ﬁ@:{

B). Valve operation / dled KICERIE]

C). Valve timing / dlcd ET‘&'&TTT

D). Valve setting / dlcd gfem

Q 31. What does detonation lead to? / JIHIeT T R EPIHT %?

A). Leakage of oil /?f?f &1 Rarg

B). Idle starting / 3R sd Yo 3AHId

C). Stopping of engine / 399 &I dq E‘P['_-IT

D). Knocking sound / WeWTIGT DI TS

Q 32. A sensor which is able to detect the presence of nearby objects
without any physical contact is called ....... / Tdh g o fo=r et Mifas
IJud &, MY-UY &I axgsft &t IURUTA &1 gt ama & gerw var §
HEA T |

A). Neighbourhood sensor / ﬁaig‘s’ g3

B). Proximity sensor / mfaafad dax

C). IR sensor / IR T

D). Level sensor / dAgd TG

Q 33. It is a rotary actuator or linear actuator that allows precise control
of angular or linear position. What is it? / Ug Udh A yads EIT%@$
gad® g of ivfig a1 Yew fRufa & gd® PAaam o srgqafa ar g1 ag a

87

A). Servo motor/ gt ;e

B). Induction motor / SR Hiex

C). Synchronous motor / RI=pI9g AreY
D). Compound motor / HUII S HIeR

Q 34. What is the source of power supply for the operation of wiper

motor? / AISUR MeR & FaATa- & T fISeht &t mgfd &1 A T 82

A). Cutout / P THI3CT

B). Battery / a?fff

C). Starter motor / IS Hiex

D). Dynamo / ET";{efﬁf

Q 35. What is the number of filaments provided in headlight bulb?/
gedIsT 9 | fau ¢ fharde & ¥e frah gt 82




A). One / Ud

B). Two / al

C). Three / GG

D). Four / dIR

Q 36. Fuse wireis made of ........ooovvunnn... / WS diRk

3|

A). Lead-tin alloy/ d8-fc9 iy rg

B). Copper / didl

C). Brass / gidd

D). Strong steel / HYIdd o

Q 37. A silencer fitted to an engine has dividing walls inside it, which are
called .............. / TH 99 § a7 grsaaR & ffar fqurs® dhark gt €, o
HEAT T

A). Baffles / I%d
B). Partitions / et

C). Legs / GELS]

D). Fins / =g

Q 38. Engine cylinders and pistons are lubricated by the system called as
........... /97 RSy iR Wea @ _______ H5ard o7 ard Ried g
WA foar o 3

A). Pressure system / qdld U

B). Semi-pressure system / 3‘[@—3@3 o
C). Dry sump system /ET_Sc T Jumet

D). Splash system / TR JUTE

Q 39. The ignition system of a petrol engine has two circuits which are

they? / UTIA 399 & Usadd Uxfd # &l Gfdhe g1d &, 9 &9 g2

A). Low-voltage and medium-voltage circuits / A-dqees 3T Hifgga-die
afde

B). Medium-voltage and high-voltage circuits / MfEga- AR 3MiT BTg—
qee S Ffbe

C). Low-voltage and high-voltage circuits / A-qeeS 3% BT'st-a}f@Gf gfhe
D). None of these / 3:fff I Ebaf'sc :Té:f

Q 40. It is a type of electrical switch fitted at the bottom half of the
distributor in the ignition system of petrol engine. It is operated by a
revolving cam. What is it? / 98 U% UHIR &1 safdcdd a9 g S ¥ard 3974
& 3RwT Ren ¥ fedis




A). Coil / ®Igd

B). Contact breaker / HicaH B

C). Spark plug / WTHh &I

D). Ignition switch / Q@IQT'_‘[ g

Q 41. A choke when fitted on the instrument panel is sometimes pulled to
do certain functions. Which of these is not among those functions? /
$¥AT YA IR MY W14 TR TH b DI HH-H W O BIaf B HIA & 1T
e orar g1 399 q ST W 39 BR

A). To supply rich mixture/ YH& firsyor ot &rrqﬁ-f DAl

B). To supply lean mixture / gad HY ot &nqﬁf DAl

C). To facilitate starting of engine / EE| Pl Yo 3HTd &I ﬁﬁ?ﬂﬁf'_-[$ CEIGI
D). To be normally used when engine is cold / S99 & Sl E»Pfef g grHear<g
Y Y YA A

Q 42. What should not be done when starting an engine of a motor
vehicle? / AICX 184 &1 394 YE HId IHY A1 98! fbar si=1 =nfgw?

A). Gear lever should be in neutral position /ﬁfq? ax dewy fufa ﬁfﬁ:ﬂ
1feT

B). Hand brake should be pulled on /%€§$ Qi S ﬂT%Q

C). Ignition switch should be switched on /E'EIQT:[ g &1 dlcj\ﬁﬂ:ﬂ NIEI
a1fgT

D). Touching starter switch when engine is running / 99 $99 9d Y&l 33[ ar
weR Rga &1 g1

Q 43. Which control aid in a vehicle is used to change the speed of road
wheels in relation to the speed of the engine? / S99 P! g & I H
AT B B! T ggd7 & AT AT BT ST HUSd TS YA fHar Srar g2

A). Accelerator / dXh

B). Clutch / &id

C). Gearbox / UGG

D). Sensor / RS

Q 44. When the largest gear on the driven shaft is pushed into the
smallest gear on the layshaft, it is said to be ........... / Sd ﬁ;’a:r YUY g
Y F371 IR dWge o gad I Ma3 & Yo onar g, O 39
G

A). First gear position / BT g grehwra
B). Second gear position / & g aroiwa



C). Third gear position / g g arsiterA
D). Fourth gear position / wrd gy osfreT

Q 45. Trafficator is a signal, which when operated indicates driver's

intention to / P FHeI UH & d 7, St garferd 817 U Irdd &

__________ F IS B ST HIAT B

A). Stop the vehicle / dlgd CIRIEE]

B). Accelerate the vehicle / T8 &I dW HA
C). Decelerate the vehicle / dIg-d &I AT HIA
D). Turn the vehicle / dlg- Al H\IC;S:I

Q 46. The brushes are held in position on the commutator by ............. /
ST UR Y Bl SR UrSir=rd & |Imar Sl g

A). Circlip / g feay

B). Spring / i

C). Cotter pin / Hiex U

D). Split pin / f&ae fuq

Q47.The ccovviiiennn... allows current to flow in one direction in the

IfFe IR et H Hic &l UH e # yarfgd

rectifier assembly. /

®37 B Fafa A B

A). Thyroid / 4TIRIgS

B). Diode / SIUIS

C). Thermistor / yffwex

D). EMF / SUAT®

Q 48. What is the commonly used material for insulator of spark plug? /

W6 W & YA & Y AR U IUAT St o1 arat wradt &1 g2

A). Asbestos / Q@EH
B). Bakelite / %%?ﬂs"c'
C). Alumina /Qﬁﬁ[:ﬂ

D). Mica / HISDI

Q 49. The ignition coil in an electronic ignition system is triggered on and

off by .../ T%h SAKIM® AT g d s siga s ARl
. MR &g fFHar oran B

A). Permanent magnet / qIHTAE IAC
B). Diode / STAS

C). Contact breaker / FHicaT gD

D). Timer / CISHR



Q 50. One of the functions of induction manifold in an engine is

............. /TH ESATHSSRA AN T ST A T A TH © oo

A). Atomize the fuel / é‘i{:f HT HUNHI

B). Vaporize the fuel / —sﬁa:{ P! arferd &

C). Meter the fuel /%H:r I AT

D). Regulate the fuel /gﬂ:f P! Fafg &3

Q 51. The element of fuel filter is made of .................... / _SE?F[ flheey &1

A). Brass / grad

B). Aluminium / E@Iﬁﬁqﬂ

C). Pleated paper / e guv

D). Porous cast iron /%aqvf eddi FﬁET

Q 52. By using fuel injection in spark ignition engine, better ................ /

Wdh ST 97 & WA SURIT & T G, TEAT e |

A). Thermal efficiency is obtained / yHd ged U P orat @

B). Mechanical efficiency is obtained / JiA® G&Idl W &t S g

C). Electrical efficiency is obtained /ﬁﬂ:ﬁ?‘f Tl Ut &I STl 8§

D). Exhaust efficiency is obtained /Q‘G’TE T&dl UTW i STl %

Q 53. The most accurate gasoline injection system is .......... / J§Y gA®

AAAT SHTITT YU © e |

A). Direct injection /3'[?3[:\’32’ 3@[33\7[:[

B). Port injection /tlzf_cF 3@[33\’[:[

C). Throttle body injection / Med el _"Q'@[a"\ff:[

D). Manifold injection / ﬁﬁthl[c'_s’ 3@3‘\’[:[

Q 54. Select the 'cylinder head type' to be fitted in an overhead valve
engine. / 3AIEE dled 394 H fihe g4 & [T 'RATSI S 13U’ &I I
B |

A). L - Head / L- 88

B). |- Head / I- B8

C). F - Head / F- 8

D). P - Head / P- B8

Q 55. During scavenging in two-stroke engine .............. / Epf@a; ESE| H
TBIE B GIRTT e |

A). Inlet and exhaust ports are open / $dac G?RT Q‘WT%C e g@r s‘r?r%



B). Inlet and transfer ports are open / iﬂac 33? cI=gHhR e {ga s’r?r%
C). Exhaust and transfer ports are open / Q‘UI\IJ%C 3?[? cI<dm e ﬁ@f ﬁ?f %
D). Inlet and exhaust ports are closed / g:[@[_d 3?[? I,”\_Sﬁﬁr e dg E‘r?r %

Q 56. Under which condition the clutch plate has a tendency to wear? /

g UG & 987 799 We & g 13 & GHIaT giat 82

A). Clutch plate and flywheel spin at different speeds / dcid T 3R
wsgd & g afadl ux &= g

B). Engine and transmission spin at same speed / S9 3R ﬁﬂﬁ[QT:f Eal
a1 7fd g =y g

C). Engine is idling / $919 & ey E-Tef KRS

D). At high speed when vehicle is in top gear / SId dlgd Ty ﬁftﬁﬁfﬁ?‘h
3= Tfd U

Q 57. In automatic transmission, different gear ratios are obtained by
............... / Sifarafes ciafwa o1 faftrs fax squra ure
fpu wTd §)

A). Planetary gear set / WA Mgy qe

B). Planetary hydraulics / 'S E | ETE'_QP”%[$

C). Set of four gears / dIX gy &% Ae

D). Set of six gears / ¥¢ gy & A

Q 58. What does 'ABS' stand for? / 'ABS' ¥ &I 3MIR(T §?

A). Anti-lock braking system / Qfﬁ—?ﬁ$ sfhT Rien

B). Advanced braking system / TSAITE sfbT R

C). Additional braking system / T\T%QT:WT sfhT s

D). Alternative braking system / Jeedfes gfbn R

Q 59. What contributes to the effectiveness of brakes? / & DI
gyTaiadt o1 98I <l 82

A). Area of brake linings / CEo Wgﬁﬂ Gal 335[

B). Radius of car wheel / &I} & t{%ﬁ[ CARE

C). Amount of pressure applied on shoe brakes / Ql&ld{-l O} Iy Y T
DI AT

D). All of these / T gt

Q 60. On automatic transmission, what is used in place of clutch? /
Warfad ST ux, oa9 & W9 uR 71 IuAT fhar ST g2

A). Servo / gaf
B). Torque converter / Tb HTTR



C). Modulator / AIgdA®
D). Drum and band / §H 3ﬁ? %g
Q 61. In the steering gear, a gear sector or toothed roller is meshed with

a ., ) AR o d, e Mg qeey ar gfdeR IaR & >
1Y SISl STl g |

A). Ball bearing / CINECRIER

B). Roller bearing / AT IR

C). Worm / g

D). Steering wheel / g %)[Ff

Q 62. The tilting of front wheels away from the vertical is called
............... / adfed ¥ g ofTl & ufgdl H1 b1 ______ Hyldl g
A). Castor / DL

B). camber / FHER

C). Toe -in/ E‘r-s’q

D). Toe - out / Tl-3M3e

Q 63. If toe - inis too much, it will be become noticeable by ............ / ?ﬂ%
3-39 984 oif¥® ], df a8 ¥ gdr Id S|

A). Excessive tyre wear because of taking turns / Iﬁg A & B TAAI &
s faarg

B). Steering wanders / g &1 fagfad Epf:ﬂ

C). Feathering of tyres / T B BRI

D). Light steering / gﬁ TR

Q 64. Why do wheels of a vehicle wobble? / Tdh digd & U%T\T I T
ATd g2

A). Because the stabilizer is not functioning / i @EIFITE'GN hTH '_-[Expf DX
T §

B). Because the wheels are out-of-balance / difdb UfRT \ﬁﬂ'ﬂﬁﬁ[ g

C). Because the king pin is bent / i T U Yol g3l %

D). Because the steering knuckle is bent / difd WIART AHd Hsl g3l g
Q 65. In the disc brake, the disc is attached to the ................. / s 9%

______ RESCIRG IR

A). Piston /fth:[

B). Wheel hub / ®Id 89

C). Steering knuckle / R 9@a
D). Caliper / CARNLR



Q 66. Which component of the wheel cylinder seals the brake fluid? / aﬁa
RIfieR &1 P 31aTd 9F WSS P AT HIAT §?

A). Dust cover / S¥ D dR
B). Spring / @i

C). Piston /ﬁE:T

D). Cup / @U

Q 67. Which of these is an indication that wheel alignment is not proper?

/ 3% q BT T YHd 7 & ufew Wrww 3fRra ag 72

A). The vehicle pulling to left or right / dIg9 &I 91T T g &t 3R Rda
B). Tyre wear is rapid or uneven / CIgxX &J foara doi ¥ a1 IgHA E?f

C). The steering wheel is crooked when driving straight / re TIT@_& ENIG
JAY WA &id ¢l g1 gl

D). All of these / T gt

Q 68. The recirculating-ball steering mechanism contains a ............ inside
a block with a threaded hole in it. /ﬁﬂ@j@fﬁﬂ-a}fﬂ g T‘Hﬁﬁ$ Syl
& 3fEI UdH grar 8 9 d daer & g g

A). Worm gear / gd gz

B). Rack /3\’$

C). Pinion / ICIERE

D). Bevel gear / g9 fraw

Q 69. The term which describes the vehicle's ability to absorb road shocks

for the passenger compartment is .......... ] e ot o e & ﬁﬂ;f SISk &
TP I AINMAVT B & AT a8 &) &qdr &1 gui ST ], 98
Bt &

A). Road holding / S Eﬁ%ﬂ

B). Road isolation /13[_6' &H'&'@I@f’-ﬂ:{

C). Bumping / S|

D). Cornering / W\J:fﬁ'ﬂ

Q 70. The maximum room in the engine compartment is available with
.............. / 399 sIIcHe T JfHdY Haf & WY IuAS Bl 5|

A). MacPherson strut suspension / ﬁopq—;{-h ¢ C {-I%q-‘ll'-l
B). Wishbone type suspension / faga clgy R
C). Trailing link suspension /aﬁ‘m e g9wT

D). Rigid axle suspension / NEES USRI d A




Q 71. Which type of wheels cannot be used with tubeless tyres? / a;a?m
TIOR & WY 69 yHR & ufedl &1 Iudw 781 foar o g g2

A). Disc wheel / fs® 0_69[51'

B). Wire wheel / dlUX O_GQIFT

C). Split wheel / ftge ﬁa

D). Light alloy wheel / T3¢C THIT gid

Q 72. One of the functions of a differential is ............... / SHIRaa &
B A ATD G oo |

A). To maintain torque / TI® §ATY Y@

B). To multiply torque/ AP deldl

C). To aim the engine power at the wheels / 94 CARCICEECA] U%Zﬁ °E}
STl

D). To make the wheels to run at exactly the same speed / U%Zﬁ Ca
fIded gar= wfd g I

Q 73. When a wheel slips, what type of differential allows more torque to
be transferred to the non-slipping wheel? / 9§ T 13[125'?3” frgadn %‘, ar
5T gPpR & fTHIRgd WR-BIaa ard ufgd o eifii® AP THI HIA
@I gafd gt g2

A). Stable differential /é‘a’a fewifraa

B). Limited slip differential / fafies fau-fewifaga

C). Closed differential / Fis fewIfRaa

D). Open differential / 3Ngq fswIifRga

Q 74. The housing of the torque converter is bolted to ............ / E’T*

HAGCI B GISRIT ___ U} FH FH B
A). Piston /ﬁE:[

B). Cylinder head / fafeie iy

C). Flywheel /Wg%}ﬂ

D). Crankshaft / FHUMU

Q 75. What do manual transmissions in modern cars use to eliminate the
need for double-declutching? / SId-SIga T Ht MIWH A Bl TH HIT &
e enyfe &1} F AFT Iy T gWT BT 82

A). Synchronizers / ﬁﬁrﬁ:n‘s’\‘:r?
B). Equalizers / S AIZVIX

C). Balancers / AT

D). Stabilizers / L EAZWIX



Q 76. What are the two things which manual transmission has but

automatic transmission does not have? / 3 DI éT ol % S| ﬁﬂ\}[a
ciafiwT # @1t € afeT snaafesw crafiwa o ad avdt €2

A). Clutch pedal and steering wheel / ddd Usd 3% TR O_GQIﬁ
B). Clutch pedal and gears / ddd Usd onx oy

C). Clutch pedal and gear shift / dcld Usd 3N Max Awe

D). Clutch pedal and hand brake / dcId Usd 3 %Ug CEY

Q77.VIN has ....ccovvvene.. characters (digits and capital letters). / VIN |
_______ ol (3i% SR I3 37&R) BId |

A). 13

B). 15

C). 17

D). 19

Q 78. The most common problem associated with clutches is
.................... / FT W JS IY 3T AT § o

A). The friction material on the clutch makes a whining noise / &dd UX
gy @rad UE Huiad snars eradt §

B). The friction material on the disc wears out / fe® gr gy W oy
SIGI

C). The friction material on the disc lasts too long / fews gz gdur arah
9gd 99 YUY 9% Tl

D). The friction material on the disc is spongy / fgwr gy gvor grasfh wWsh

gl 8

Q 79. What part prevents back flow of current in an alternator? /
@A H BT & UAAIg B S99 YT Aol g2

A). I.C. regulator / I.C. i"l@f??

B). Auxiliary diodes / Afgadt srars

C). Slip rings / fag R

D). Rectifier diodes / Y[R BT STATS

Q 80. One of the pistons of a diesel engine hits on the valve head. The
probable cause is ....../ SI9Id §99 & AT # V TSP, dlcd MY G HAl
g TWRT HRUF ...

A). Main journal is worn out / ¥ S o gl g
B). Rocker lever is worn out / AHT &gy fuar g3l %
C). Valve timing chain is loose / dled ETS'ﬁ-'PT 9 dra %



D). Connecting rod big end bearing has failed / FHAfaeT Ie 97 Us CRIEY
fawa g 1t §

Q 81. While running a diesel engine, the consumption of lubricating oil is
found to be high. What is the probable cause? / SIS ESE| ERNIG] HHY,
e I &t @ud sifi®s urg ot g | FUIfad HRo =1 g2

A). Cylinder bore is worn out / fafdsy SR fua gl %

B). Pressure relief valve spring is defective / U Neliw ared =BT @d %
C). Oil pump is worn out / 3TIA U fora E&ﬂ%

D). Oil level is low / ad W $'£[%

Q 82. How can the taper and ovality of a crankpin be rectified? / TUT 3R

$HUT & nafefe & $9 e oar &1 gHar g2

A). By heating / dIU gIXT

B). By lapping / aftT g1

C). By grinding / ﬁfﬂTé GIxRT

D). By reboring / RafT g

Q 83. What is a reamer used for? / Udh Ja3 fHa® ﬁﬂf 3TAT fHar AT %’?

A). To remove burrs/ TSTSIEC g4 & AT

B). To drill a hole in sheet metal / Wﬁ—qﬁﬁQ$ @'3 %a HIA B ﬁ‘fq

C). To enlarge and finish a drilled hole / %a ICRRIE] %'33'73[33'[ 3R
IR d HI & fau

D). To cut internal threads/ eI Ej\%?ﬁ HIea & ﬁﬂ;f

Q 84. Sheet metal is something between 0.154 to 6.35 mm thick. Above
this thickness is called .......... /[ UId-Ud P 0.154 ¥ 6.35 . & g O
g 399 U P Hlels FHEaal g

A). Foil / BITd

B). Plate / we

C). Flat / BT

D). Block / Sl

Q 85. The coating on an arc welding electrode is called ................. / Th
A% IfFT sAFRIS UR HIRET Bl Ca RG]

A). Slag / 4TdHd
B). Flux / /A

C). Base / 3HTYUR
D). Solder / MGl



Q 86. Which of these is the dynamic seal? / g:fff q P  rgTHe dtd

87

A). Fibre washer / thIgdX are
B). Gasket / ﬁ@?_c’

C). Packing / ofHT

D). O' ring / '0' R



Level 2 Answer Key

Question No. Option Question No. Option Question No. Option
1 C 41 B 81 A
2 D 42 D 82 C
3 B 43 C 83 C
4 B 44 A 84 B
5 D 45 D 85 B
6 A 46 B 86 D
7 B 47 B
8 D 48 C
9 C 49 D
10 B 50 B
11 D 51 C
12 B 52 A
13 A 53 B
14 B 54 B
15 C 55 A
16 A 56 A
17 C 57 A
18 C 58 A
19 C 59 D
20 C 60 B
21 B 61 C
22 C 62 B
23 B 63 A
24 D 64 B
25 B 65 B
26 c 66 D
27 A 67 D
28 C 68 A
29 C 69 B
30 C 70 A
31 D 71 B
32 B 72 C
33 A 73 B
34 B 74 C
35 B 75 A
36 A 76 C
37 A 77 C
38 D 78 B
39 C 79 D
40 B 80 D







